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1. Choose the correct answer‘ frorh the
following : RS 1x8=8
(a) Which one of the ' followin. g is ng; the

characteristic of scientific metho
(i) Observation
(@) Verifiability
(iii) Non-specific ‘
' ( Tum-Over)
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(2)

il ok, The Research
in Methods of Socig] Research isC

() Goode and Hatt
(i) P.V. Young
(i) K. Bailey

(¢ “A hypothesis is g

(l.) George A. ‘Lundber
(i) P.V. Young i
(i) Goode and Hatt
(d) Wh i
ranzoriirs; mtrfaduced the kit
ampling in Socia] p;::lpleh?of
arc

on

ﬁ? BOWley
() P.V. Young
(e) DescriptiVe reSeaICh

() fixed in nag,, design jg
e

(3)

(g) Which one of the following is not
technique of random sampling?

(i) Lottery method
(i) Purposive selection of sample
(i) Grid system

(h) The population fro
drawn is technically

known as
(i geographical area
(i) social aggregates
(iij) universe of study
any four from

2. Write short notes on
ds each) :

following (within 150 wor
s of social research

(a) Characteristic
(b) Research design
(c) Questionnaire M€

(d) Essential qualities ofa

thod

the

m where samples are

the
4x4=16

good hypothesis

(i}) flexible in fiaty
w B ; i .o method
@ Both ) anq (ii) (e) Advantages of sampling i
A i , in sock
i 74 Orfilillfwti; Goode ang () Role of statistical method
hypothesis? not 4 ich of researc
? Sour _ '
() General Cultyy. o 3. Answer any four from the fouowng queSt;C;f:i:SG
(!l) SCientific thEOr; (within 500 words each 3
fiit) Autobi Discuss the
24P/8 T (@) Define social researci 4+10=14
83 8 :a] researct
utility of social T
; m Quer
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(4

{b) Define hypothesis.  Discuss the

Characteristics and main sourc’eS4 ...(1J£=14
hypothesis. .

() What is descrip

tive research design?
Discuss the

differences between

(d) What do you m,

(e} What do you

(f) Define ﬁiiservation. Explain  the
advantages anq disadvantages of
observation method, . 4+10=14

(9) Define median. Cg

] . “alculate the median
from the following table .

4+10=14
Class nteryqls Frequencies

1020 Pl e
'20-30 20

3040 22
- 40-50 24
50-60 20

60-70 4

70-80 . . 4

% & &
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